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Sheet 2

- (Commutative Property of Addition)

A) Fill in the missing numbers using the commutative property of addition.

1 4+1 = 1 + 2) 8+7 = + 8

3) 6+3 = + 6 4) 5410 = 10 +

50 10+7 = 7

PREVIEW

B) 1) Which of the fol -ative property of

addition? Gain complete access to the largest
collection of worksheets in all subjects!

a) 3+47=7+3 2+1=1+2
Not 3 membery
P'easesign up to
I}
2) Which of the fol 98I complete »perty of addition?
4ccess,
a) 10+4=8+ 5+7=7+5
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Q1) If9+5=14,then5+9=

2) If3+4=7,then4+3=

.
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